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Section A

Look at Fig. 1  below.

 (i) Megan, 76 years old (ii)  Beth, 15 months old

 (iii) Amir, 15 years old  (iv)  Andre, 35 years old

Fig .1  People at di�erent life stages

An image has been 
removed due to third party 

copyright restrictions

Details: An image of a 
woman

An image has been 
removed due to third party 

copyright restrictions

Details: An image of a 
toddler

An image has been 
removed due to third 

party copyright 
restrictions

Details: An image of a 
teenager

An image has been 
removed due to third party 

copyright restrictions

Details: An image of a man
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1 Look at Fig. 1 opposite.

 (a) Identify the life stage for each person. Describe two intellectual characteristics for each life 
stage.

  (i) Megan’s life stage  ..............................................................................................................

   Intellectual characteristic 1  ................................................................................................

     ...........................................................................................................................................

   Intellectual characteristic 2  ................................................................................................

     ...........................................................................................................................................

  (ii) Beth’s life stage  .................................................................................................................

   Intellectual characteristic 1  ................................................................................................

     ...........................................................................................................................................

   Intellectual characteristic 2  ................................................................................................

     ...........................................................................................................................................

  (iii) Amir’s life stage  .................................................................................................................

   Intellectual characteristic 1  ................................................................................................

     ...........................................................................................................................................

   Intellectual characteristic 2  ................................................................................................

     ...........................................................................................................................................

  (iv) Andre’s life stage  ...............................................................................................................

   Intellectual characteristic 1  ................................................................................................

     ...........................................................................................................................................

   Intellectual characteristic 2  ................................................................................................

     .....................................................................................................................................[12]
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 (b) Some milestones in development are:

  can smile                            can walk                            can roll over from back to front

  Identify the order each milestone of development would normally occur.

1  ................................................................................................................................................

2  ................................................................................................................................................

3  ............................................................................................................................................[3]

 [Total: 15]
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2 Read Text 1 below.

 Text 1

Throughout their lives people have many different types of relationships.

 Use the information given in Text 1 to answer question 2(a).

 (a) Describe three different features of each relationship given below.

  (i) Employer/employee

Feature 1  ...........................................................................................................................

 ...........................................................................................................................................

Feature 2  ...........................................................................................................................

 ...........................................................................................................................................

Feature 3  ...........................................................................................................................

 ...........................................................................................................................................

  (ii) Mother/daughter

Feature 1  ...........................................................................................................................

 ...........................................................................................................................................

Feature 2  ...........................................................................................................................

 ...........................................................................................................................................

Feature 3  ...........................................................................................................................

 ...........................................................................................................................................

  (iii) Husband/wife

Feature 1  ...........................................................................................................................

 ...........................................................................................................................................

Feature 2  ...........................................................................................................................

 ...........................................................................................................................................

Feature 3  ...........................................................................................................................

 .......................................................................................................................................[9]
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 (b) Complete the table below.

  Greg and Rob are friends.

  Identify one different feature of their relationship for each situation given.

Situation Feature of their relationship

Greg tells Rob how he feels 
about a girl he likes

.......................................................................................

.......................................................................................

Rob is afraid of some older boys  
at the youth club so Greg stays 
with him

.......................................................................................

.......................................................................................

Rob and Greg go to football 
together every Saturday 
afternoon

.......................................................................................

.......................................................................................

 [3]

 (c) Describe three ways an effective social relationship with parents could have a positive 
influence on the development of a child.

1 .................................................................................................................................................

 ...................................................................................................................................................

2  ................................................................................................................................................

 ...................................................................................................................................................

3  ................................................................................................................................................

 ...............................................................................................................................................[3]

 [Total: 15]
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3 Read Text 2 below.

 Text 2

Abigail is 6 years old.

Examples of the environmental, social, economic and physical factors that have influenced 
Abigail’s development are:

 living in the city near a busy street having no friends

 family having a lot of debt being short sighted like her father

 living in an overcrowded house having few books and toys

 having asthma like her mother  being bullied by her brother

 Use the information given in Text 2 to answer questions 3(a), 3(b) and 3(c).

 (a) Complete the table below.

  Identify which of the factors in Text 2 are environmental, social, economic or physical. Use 
each example only once.

Factor Example

Environmental factors 1 ....................................................................................

2 ....................................................................................

Social factors 1 ....................................................................................

2 ....................................................................................

Economic factors 1 ....................................................................................

2 ....................................................................................

Physical factors 1 ....................................................................................

2 ....................................................................................

 [8]
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 (b) Three other factors that have influenced Abigail’s development are:

 • being ill quite often
 • family having little income
 • her parents are separated

  Explain how these three factors in Abigail’s life could interrelate (work together) to affect her 
development.

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...............................................................................................................................................[6]
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 (c) Explain how neglect could affect Abigail’s growth and development.

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...............................................................................................................................................[6]

 [Total: 20]
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Section B

4 Read Text 3 below.

 Text 3

Kaz is 55 years old. He is a Muslim who moved to England with his family from another country 
five years ago. Kaz works at the local hospital as a surgeon. His father, Bagicha, is 86 years old. 
Bagicha lived with the family until recently but he is now in a residential home.

 Use the information given in Text 3 to answer questions 4(a), 4(b), 4(c) and 4(d).

 (a) Identify three social characteristics that Bagicha is likely to experience in his life stage.

1  ................................................................................................................................................

2  ................................................................................................................................................

3  ............................................................................................................................................[3]

 (b) What is meant by the term ‘self-concept’?

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...............................................................................................................................................[2]

 (c) Culture is one influence that could affect self-concept.

  Identify four other factors that could influence the development of self-concept.

1  ................................................................................................................................................

2  ................................................................................................................................................

3  ................................................................................................................................................

4  ............................................................................................................................................[4]
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 (d) Explain three ways cultural influences could affect Kaz’s self-concept as a result of moving to 
England.

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...............................................................................................................................................[6]

 [Total: 15]
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5 Read Text 4 below.

 Text 4

Bagicha is very unhappy at the residential home. One care worker is always shouting at him 
because he does not always understand what is being said. She never asks Bagicha which 
activities he wants to do or what he would like to eat.

 Use the information given in Texts 3 and 4 to answer questions 5(a), 5(b) and 5(c).

 (a) Complete the chart below. 

  Identify two different effects on Bagicha’s self-concept of each action given below. State how 
each should be changed. 

Action affecting 
Bagicha’s 
self-concept

How Bagicha’s self-concept is 
affected

How action should be changed

Care worker 
shouting at 
Bagicha

.............................................................

.............................................................

.............................................................

.............................................................

.............................................................

.............................................................

.............................................................

.............................................................

.............................................................

.............................................................

.............................................................

.............................................................

Care worker not 
asking Bagicha 
which activities he 
would like to do

.............................................................

.............................................................

.............................................................

.............................................................

.............................................................

.............................................................

.............................................................

.............................................................

.............................................................

.............................................................

.............................................................

.............................................................

 [4]
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 (b) Explain four ways that Bagicha’s self-concept could be affected by having to rely on others.

1  ................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

2  ................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

3  ................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

4  ................................................................................................................................................

 ...................................................................................................................................................

 ...............................................................................................................................................[8]

 (c) Describe three ways that voluntary groups could provide support for Bagicha.

1  ................................................................................................................................................

 ...................................................................................................................................................

2  ................................................................................................................................................

 ...................................................................................................................................................

3  ................................................................................................................................................

 ...............................................................................................................................................[3]

 [Total: 15]
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6 Read Text 5 below.

 Text 5

Bagicha suddenly has a heart attack after which he finds it difficult to get around.

Since his heart attack Bagicha has been in hospital but it is agreed that he will move home. 
Different formal and informal carers will help his recovery.

 Use the information given in Texts 3, 4 and 5 to answer questions 6(a), 6(b) and 6(c).

 (a) Is Bagicha’s heart attack an expected or unexpected life change? Give one reason for your 
choice.

Expected/unexpected  ...............................................................................................................

Reason  .....................................................................................................................................

 ...............................................................................................................................................[2]

 (b) Identify three different types of informal carers who could provide support for Bagicha. 
Describe how each could provide different types of support. Explain how the support could 
help him to cope.

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................
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 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...............................................................................................................................................[9]

 (c) Identify three professional care workers who could help Bagicha at this time. Explain the 
support they would provide and how  the support could help him to cope.

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

[Turn over
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 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...............................................................................................................................................[9]

 [Total: 20]
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